RESHE (2/5)

ER%KE 2AEER — s

<
S =1:400 B B _
HHO __HH10
ST ©
isfie} = |
Y — a T
QQQEH = |1 T H—\
i N4 = —
ot L 2EoBE
B AEPBNERE
%MT f - -
HH: [ .
RIFAN—H—T )L ///& I HH L
(FEP100 (E%ZR) ) MomkAgLTH |
tjtj ﬂ\i e S 4|
/////\ ] 4” H

No. 1E25Kith

N No. 2827k th

Na.
|
4
1=

e

‘ [ ] ~\ fi2

=]
=1

‘ ‘ =

5
JC T O T

il

=

No. 4E27K ith =

No. 4E2 7Kt H ‘ s

THE 2 EHG ON
WEZEHL ON

N

LHH
L

L

=

TR FH9 ON

WE ] ON
HEE S FHG ON

HE B ON
BN BHE ON

X1 COREIFAMY A RERTES B,

X2 REATEIEEEE L, BIFCRGICTHRETSIDET S,

@mtw—w FRAEBERT, (JxURBICEET . )

SHSEEKEREI R
TEA FRBKERUV=ESKEERSBERELIS
IEIG EMRAESRURRHEBERRA
= % AEEKE 2hFER
& R 11400 | HEES 1/5

BWMETKEZTER




5500

5500

2Y)=79tZ7A87

*yrI=HLa—4—
BRE=4—

SFPEV 21—

PoER A v F

riERA

INFA—+t

UTPr =Tk x2

ARIVE- (M)

FEAFKE BEREYER

S=1:200

5500 5500 5500 5500 5500 5500 5500

_ n ] O
WP —F L x2
XHCANLEE
PBIS0X 150X 100 (SUS - UP) 2 - ;;iﬁ - =

i I ERRE 3% UTPr—J v x2

x@»%—»(ﬂmﬁ)

UTPr =TI x2
(622)

UTPr—J 1 x2
AR E—), (HEEHE)

hATBRHEE 2BTEER

*I7AN==T)L MESE (1/5)

5500 5500 5500 5500 5500 5500

— [] e —
Eﬁ — [ [ ‘ﬁ
S KERRE
3 g j
B a
= £5 - ] E
E#Z UTPr =T )b x2 n A <§
- X AN LER ' Ol a
3 EHE KEBHE S l
€
O
1 ] ] ol
1REFER
UTPr—J )L x2
ARNE-IL (HEEE)
X1 COR@EFARYS XERRET S, .
X2 REARATEEIEBREL, BIANCHESICTHERTSI0DET S,

S EEAREESS
TERB | inagpu=askBEaRERETS
IEEH | RHABSSNRULREHGEEEA
£ RESKS SEEE - RTER
& R 1:200 RKEES 2/5

BFEWMETKEERXRR




tF E

/

>

A 18

-

R

nen

\

%4k 18

/

HH

S =1:100

oveel

0ozt

e |
H =]
I T I
5 o
BE|2
o el
I e
W E|E w |
wl S| ®
Xl E |2 | ¥
ol 2w g | ®
1 1 0 | g
gl w HH
g2l ¥ ® %
2 x|
R =
¥ % | s
0§ % #= | = | 4
A T I
& i i I
e
g % | K
ol
e
e
H|H|X|[E
o
o
Y]
S
+P
)
o
wa
B
v
_I_
m|
R
o U
o E
U H
48
WO
~ A
¥ ¥
PR
(] 5
= f = T4
3, I _ _ R 3 N _ =+
jidn/n QRN | - S E T sz
A e — A e e
d L ji NNy Nl M=
A e L] A e -
© © - X%
I EAH B g m(mmpis LY o
g TS —F] g 7 1 | A
b an(mgninh )il o dEH EHE O
T (.
| _f ] i | - B
5 — 1] 2 5 L) —
| T e — iz
“JMX/ oI [ T ,/, s oI 1 11
2| | EE I = 7' ©
. N T O - . i
g | 11 il ] g L S
Mm | i e 1 1L = ° 1 =
A b I b I
| (%] wn
= [ <L —| O 3, B
" T T ke o ’ T e B
A B | i g P
B L a0 L mw; 4
H — fr - — 4 Bl I
g O | Lo g © . NN
g g Ly = g g R
i BRI g el R|R
WB o 0
or i 1 70 - ._m.@ 1 10 ._m.@
— 3l - T
o1 — 7‘1 ﬂi ~ S o1
= i X ™ 3|
i o i E [T
, ol TE
e e o &[0 =ikl
o T L = = o o L
S Tl 2 g ‘ﬂJ
A il L =2 L
(@) I Ly ’.A ] rm ._._/ L @/L
- 1| e b S 1 T g
1 EE ]l n\ = < EIE | 1
ot o or i 1 70 i\ 70 \/T ﬂ o 1 10 \kﬁ -5 L \%\
g8 , N g J
o 5! o o~
o e e = N
< =) _2 7
. K g
i i 5
g == == g - =
pA H\/
: L - : o5-IL )
[ T T
WﬁM \Z FOL
7
N o
Wl S
Y
N B
NS ®
X e
B Bl
a &R iR
o7 08eC 0 0686 0see 0685 0
oreet 0021




i
—_—=

%Ki EARTEER

AMEHSER (5/5)

ROTE Ry TH %
@ FHEBR % b 2 385t
| o
: o
O O
\ [ [ |
| [ |
Bkt
B = win
1@%«#&3%%%5& @‘)
* r N r
a J j PR=E aod L
ﬂ 700y & Bkt
| 0 o
] -
VAR N\ U
K3 @ ) (L)

@ FEo¥—74 FREAEEZRY, (7 VARICEET S, )

SHEEEKEREIS
T 32 | rmasRu-tsrsEunpnETs
=%y EMRASSRURREHEHRN
% =EHkSE 2ATER
B R | NNSAE | IEES 4/5

BWMETKEFTERB




6400 6400 6400

. PB150 x 150 x 100 (SUS « WP
UTPr—7 )L ( )
(GP16)
£===1 A e W “ ===
| AN B
KEHBRE
AL ¢ 50 UTPr—J L x2
(6P22)
EBEBE o
— =4
rybI=9La3-4—
PoER 4 v F
BRE=4—
JILFA—F 2=79+A707
a1y = BRY% .
ﬂ m\ﬂ/ w -
5 : g
r T =
| }\\ KEHBE 5
[
ﬂJ [
h A5 BAHEE X2
T %A T;;E;‘Ziggﬁgﬂ:;;ir%ms&ﬁsﬁﬁzs
TEIG ENARSRRURRTEBR®RA
£ ZEHKE BB EEZRTAER
& R 1:100 RKEES 5/5
X1 CORERANYAAEERET S, : .
X RERTEEEBRE L. BIfCESIcTERTIE0LT 2, RMETKEEXRR




